Virginia High School League

Scholastic Bowl, 2000-01 season

State Competition, Match #8


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the State level by Shawn Pickrell. These questions are to be used by the Virginia High School League to conduct their Scholastic Bowl competition under the following conditions, which must be known by all coaches, competitors and spectators of the competition.
(a) Release of these questions to any entity not affiliated with the Statecompetition or the schools that are members of the given State before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 toss-ups
1.
THIS IS A COMPUTATION QUESTION. A car salesman makes 20% commission off of the sticker price and any price reductions are taken from his commission. One customer buys a $19,000 car at sticker price, but another savvy customer is able to knock a $30,000 sticker price car down to $28,000. How much commission does the salesman make?

ANSWER: $7,800 ($3,800 from car 1, $4,000 from car 2 - $6,000 is reduced by $2,000 because the price was reduced by $2,000.)

2.
STP are the initials of the Scholastic Bowl Commissioner, Shawn Thornton Pickrell. However, in a laboratory experiment, when the letters STP are seen, what is usually meant?

ANSWER: STANDARD TEMPERATURE AND PRESSURE
3.
Charles Taylor is the President of what African nation that was established as a home for freed slaves?

ANSWER: LIBERIA
4.
This title character serves as governess to the Bloomfield and the Murray children, eventually marrying Weston, the local curate. What is this novel, the only novel written by Anne Bronte?

ANSWER: AGNES GREY
First period (continued)

5.
Who is the German general that lent his name to the plan on which German tactics in World War I were based?

ANSWER: Alfred Graf von SCHLIEFFEN

6.
It was established on March 1, 1961, and J. Sargent Shriver was named as its first director. What is this agency of the United States government that sends young American volunteers to help implement human resource and economic development programs?

ANSWER: The PEACE CORPS
7.
What adjective taken from the Latin for covered with hair or shaggy is used to describe someone who is covered with hair or set with bristles?

ANSWER: HIRSUTE
8.
This woman disappeared in 1995. It was later found that she and some of her family were robbed and murdered by a former employee of her company. Who is this woman that was the President of American Atheists, Inc.?

ANSWER: Madalyn Murray O’HAIR
9.
What adjective is given to a substance that can be shaped by hammering or rolling?

ANSWER: MALLEABLE
10.
THIS IS A COMPUTATION QUESTION. What is the volume of a cylinder with a height of 8 inches and a radius of 3 inches?

ANSWER: 72PI cubic inches (9PI is the area of the bottom multiplied by 8 yields 72PI cubic inches)

11.
What recently released romantic comedy stars Freddy Prinze, Jr. and Monica Potter?

ANSWER: HEAD OVER HEELS
First period (continued)
12.
What is the name of the small portion of the brain behind and under the cerebrum that is responsible for balance and motor function, among other things?

ANSWER: CEREBELLUM
13.
THIS IS A COMPUTATION QUESTION. What is the indefinite integral of the function y = sin x?

ANSWER: NEGATIVE COSINE OF X PLUS C (must have the Plus C, otherwise no dice)

14.
What term is used to describe a corporation’s rules and regulations, describing among other things how the board of directors is to be named?

ANSWER: BY-LAWS
15.
What country is the setting for the novel Cry, The Beloved Country, a novel about the disparate living conditions created by the system of apartheid?

ANSWER: SOUTH AFRICA
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
THIS IS A COMPUTATION QUESTION. What is the surface area of a cube that is 2x inches on each side?

ANSWER: 24 X SQUARED (2x * 2x = 4x squared, and six sides)

1B.
What name is given to the element or compound that enters a chemical reaction?

ANSWER: REACTANT
2A.
Who is the founder of the last dynasty of Japanese shoguns, a man who unified Japan at the battle of Sekigahara in 1600?

ANSWER: TOKUGAWA Ieyasu (I put the last name first, in the Japanese style)

2B.
What name fills in the blank in the T.S. Eliot poem ‘The Love Song of (BLANK)?’

ANSWER: J. ALFRED PRUFROCK
3A.
Whose autobiography, which he really wrote, was called ‘Up From Slavery?’

ANSWER: Booker T. WASHINGTON
3B.
Who wrote the operas Il Trovatore and Rigoletto?

ANSWER: Giuseppe VERDI
4A.
Who is the mother of Apollo and Artemis?

ANSWER: LETO
4B.
The town of Titusville in what state was the site of the first oil strike in the United States?

ANSWER: PENNSYLVANIA
Second period (continued)
5A.
UGA. UCU. AUA. These are examples of what three-letter sequences that correspond to certain amino acids?

ANSWER: CODON
5B.
THIS IS A COMPUTATION QUESTION. A hustler made a $100 bet with 20 people. He wins 80% of the time, but loses 20% of the time. How much profit did he make in the course of the day?

ANSWER: $1,200 (He wins $1,600 from 16 people but loses $400 from 4 people. Total of $1,200)

6A.
THIS IS A COMPUTATION QUESTION. A yardstick casts a shadow of 6 inches. A building has a shadow of 5 feet. How tall is the building?

ANSWER: 30 FEET (36:6 is a 6:1 ratio, so a building would be 6 times as tall as the shadow, or 30 feet)

6B.
What name is given to a portion of cytoplasm that forms a foot-like structure that allows movement, used by protists such as the amoeba?

ANSWER: PSEUDOPOD
7A.
What Chinese emperor ruled from 140 to 87 BC, leading the Han dynasty to its zenith of military power?

ANSWER: Han WU-ti

7B.
What is the sentence ‘The candy was divided between the two of you’ restated by increasing the number of candy recipients by one?

ANSWER: THE CANDY WAS DIVIDED AMONG THE THREE OF YOU
8A.
Who wrote the epic poem The Faerie Queen?

ANSWER: Edmund SPENCER
8B.
Who is the current Secretary-General of the United Nations?

ANSWER: Kofi ANNAN
Third period (continued)

9A.
The Branch Davidians are an offshoot of what Christian sect that believes in observing the Jewish Sabbath?

ANSWER: SEVENTH-DAY ADVENTISTS
9B.
Into what body of water does the Susquehanna River flow?

ANSWER: CHESAPEAKE Bay

10A.
What theory holds that the universe is always expanding but maintaining a constant average density, a theory that has by and large been disproved by the Big Bang theory?

ANSWER: STEADY-STATE theory

10B.
THIS IS A COMPUTATION QUESTION. If PI square inches of a pie have 120 calories, how many more calories would eating a 4 inch in diameter pie have than eating a 3 inch in diameter pie?

ANSWER: 210 Calories (a 4-inch pie is 4 PI square inches whereas a 3-inch pie is 9/4 PI square inches. Therefore the pies are 480 and 270 calories apiece)

Third period: 15 toss-ups 

1.
What French sculptor sculpted The Burghers of Calais?

ANSWER: Auguste RODIN
2.
The Lecompton Constitution and a rival government set up at Shawnee Mission were two of the obstacles that delayed the entry of what state into the United States in 1860 as a free state?

ANSWER: KANSAS
3.
What name does Windows give to the temporary storage area where deleted files are kept before they are permanently deleted?

ANSWER: RECYCLE BIN
4.
What name is given to the three dimensional topological space that is one-sided, is ‘closed’ but has no ‘inside’, and can make two Mobius strips is it is properly cut in two?

ANSWER: KLEIN BOTTLE
5.
What ten-letter word which is taken from the Latin for ‘secret flight’ is used to refer to a deceptive device or strategy, especially with undercover warfare and spying?

ANSWER: SUBTERFUGE
6.
His real name is never given. After being captured by Indians, he returns to Salem only to find his wife, Hester, is pregnant. He then spends the entirety of the novel trying to find out the father of the child and get revenge. Who is this character in the novel The Scarlet Letter?

ANSWER: ROGER CHILLINGWORTH
7.
What type of front forms when a cold front overtakes a warm or a quasi-stationary front, denoted by a mixture of the cold and warm front symbols on a weather map?

ANSWER: OCCLUDED front

Third period (continued)

8.
THIS IS A COMPUTATION QUESTION. An angle has a sine of 1/3. What is its tangent?

ANSWER: ONE OVER TWO SQUARE ROOTS OF TWO or SQUARE ROOT OF TWO OVER FOUR (Remembering sin squared plus cos squared = 1, we deduce, 1/9 + cos squared equals 1 and thus cos squared equals 8/9 and thus cos equals 2/3 the square root of 2. Now remember tangent equals sine over cosine … thus 1 over 2 square roots of two or the square root of two over four)

9.
Explorers in the 16th and 17th century made several voyages along the coasts of Newfoundland and Greenland in search of what method of going from Europe to the riches of Asia which involves sailing above Canada?

ANSWER: NORTHWEST PASSAGE
10.
Whose painting, Impression, Sunrise, is marked as the beginning of the Impressionist movement?

ANSWER: Claude MONET
11.
THIS IS A COMPUTATION QUESTION. If a factory operates two eight-hour shifts on Mondays through Fridays and one shift on Saturdays, how much pollution does the factory produce in a week if it produces 15 tons of pollution for each hour it is open?

ANSWER: 1,320 (16 hours * 5 days = 80 hours * 15 tons/hr = 1200 tons during the week and 15 * 8 = 120 more tons on Sat.)

12.
What French leader was the first President of the Fifth Republic and commanded Free French forces during World War II?

ANSWER: Charles DE GAULLE

13.
What classic rock band sang the songs ‘Sultans of Swoon’ and ‘Money for Nothing?’

ANSWER: DIRE STRAITS
Third period (continued)

14.
She was named by Geoffrey of Monmouth as the ruler of the island of Avalon, where Arthur eventually went until the time should come for him to return to his kingdom. Who is this woman that is said to have learned her magic from books and the wizard Merlin?

ANSWER: MORGAN LE FAY
15.
What name is given to the tendency of certain minerals to break along distinct planes in their crystal structure, a geologic term that usually causes snickering when discussed in class?

ANSWER: CLEAVAGE
Spares
Which of F. Scott Fitzgerald’s novels is about Anthony and Gloria Patch throwing wild parties until they stand to inherit a large fortune from his grandfather?

ANSWER: THE BEAUTIFUL AND THE DAMNED
What composer wrote An American In Paris?

ANSWER: George GERSHWIN
What is the name of a mixture of slaked lime, sand and water that settles to a hard mass and is therefore of great use in stonework and brickmasonry?

ANSWER: MORTAR
What adjective is used to describe a mutual fund that has no fees other than the annual management fee for the fund?

ANSWER: NO-LOAD
THIS IS A COMPUTATION QUESTION. What number is 56 80% of?

ANSWER: 70
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.

